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a | Rule of three - 1¢ method

b  Rule of three - 27 method

gl ¢  Rule of three - 314 method - Simultaneous calculation
{ d  Rule of three with complementary division - Type |l

e  Extended rule of three
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1D Rule of three - 15t method

a (]80 x 46 ) + 144 Setting Carriage/Inverter Turns Counter Product
( axb ) +c=2¢ Clear 1 Clear Clear
Set b 46 654321 - 2 92
8 7 6 5 4 3 21 A A 11109 8 7 A5 4 3 21

1 Calculate a x b with shortened multiplication. 46 x (200 - 20). (See 1B¢)

46 180 8280.,0
Partial result in PR: 8280.000 ¢3]4js]2] 2 — '
A A 11109 8 7 6 A 43 21
2 3 Clear
Set ¢ 144 5 ] 5 108
3 876543 21 A 11109 8 7 6 A 43 21
Calculate ( a x b ) + ¢ with division by subtractive method. (See 1Cc)
Bring PR to O 144 4 ,_ 57 792
) Décimal rule, dpPR — dpSR = dpR, 3 — 0 =3 144 6514321 575
Result: 57.5, no remainder R = R

Source: " Computing examples for the Curta", Contina / Bernard Stabile - 2023
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1D Rule of three - 274 method

b (]80 x 46 ) + 144 Setting Carriage/Inverter Counter Product
( axb ) +c=2¢ Clear 1 Clear Clear
144 654321 . 1 144
Setc 87 65 43 21 A A 11109 8 7 A5 43 21
1
Calculate a + ¢ with division by additive method. (See 1Cq) 144 6 + ] 144
Develop 180 in PR
144 5 2+ 12 1728
) Décimal rule, dpPR — dpSR = dpR, 5 — 0 = 3 144 6|5 4/3 21 - 1,25 180
Partial Result: 1.25 a a 10908 76 5 A3 21
8 18 Clear
Set b 46 6543 21 5+ 120 23
4 87654321 A N 11109 87 6543 21
Caleulate (a + ¢) x b with multiplication 1Bf
Make additive turns until the counter is clear 46 5 - 10 115
5 Décimal rule, dpPR — dpSR = dpR, 5 — 0 =3 46 65 43 21 . 0 575
Result: 57.5 A A 117109 8 7 A5 43 2 1

Source: " Computing examples for the Curta", Contina / Bernard Stabile - 2023
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l D Rule of three - 31 method - Simultaneous calculation

(150,461 - 1

( axb ) ~c=2 Clear Clear Clear
Set c in the left hand of SR and b in the right hand of SR 1 4 4 46 654 3 2|1 N 1 144 46
. 87654321 A A 11098 7 654321
Calculate a + ¢ with division by additive method. (See 1Cq)
The quotient of this division is multiplied by b in the right hand of PR, , 46 3 - 12 1728 552
) Décimal rule, dpPR — dpSR =dpR, 3 —0=3 1 4 4 46 6 5 4321 - 125 180 575
Result in the right hand of PR: 57.5 N N 1109 8 7 654 3 4 1

Source: " Computing examples for the Curta", Contina / Bernard Stabile - 2023
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1D Rule of three with complementary division - Type |l
d For Curta type Il. In a division calculation, instead of setting the dividend in PR and proceeding
by subtractive division, there may, in some cases, be an advantage in setting the complement of the dividend
in PR and develop PR to zero with the divisor set in SR.
This is particularly the case with such calculations as a rule of three carried out in one operation,
when we wish to obtain the maximum capacity of which the machine is capable. Begin with inverter down.

: 2

(qxb)+c=? Clear Clear Clear
: Inverter down. Set the second factor b 456789 876 543 21 1 9999543211
Find the complement of the second factor in PR 1, 10 6 5 7 4 5 4 5 2 4 R - R 1514131211109 8 7 4 5 4 3 2 1
2 1 Clear
123 234567 6 . 1 1229777778
11109 87 654321 A 1514131211109 8 7 A 5 4 3 2 1

123 234567 5 20 2460012345

Set c in right hand of SR and a in left hand of SR 0 +

1231234567

123 234567 5 — 19 23369888883
Calculate a x (b = ¢ ) in left of PR
3 Right PR tends t ds O
'9 ends fowards 123 234567 195 239850061665
4 5+
Positive turns until O appears in front of the '0' of SR |28 028800067
Then bring the right hand of PR negative 123 234567 4 _ 194 2386198270938
with a negative turn
123 234567 3 1948 2396040147516
8 +




(]23x456789)—234567=2 Setting Carriage/Inverter Turns Counter Product
2 3 234567 2 4+ 19474 239530200677 58
1231234567
3 23 234567 2 — 19473 239517898331 91
23 234567 1 s+ 194738 239527740208446
1231234567

Décimal rule, dpPR — dpSR = dpR, 5 — 0 =5

A 23 234567 o 194737 239526509973879

4 In CR, we find the quotient of b + ¢, 1.94737
Result in left hand of PR: 239.5265

A 1514131211109 8 7 6 5 4 3 2 A

Source: " Curta calculating techniques " / Bernard Stabile - 2023
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1D Extended rule of three
e A=a+c, B=Axb, C=B=d

(325 x 677 ) = (]2 X ]]9) =2 Setting Carriage/Inverter Counter Product
(oxb)+(cxd)=? Clear 1 Clear Clear
12 615 4 321 3 36
3 +
Setc 8765432 A A 11109 8 7 6 A 43 21
1 Calculate A = a + ¢ with division by additive method. (See 1Caq) 12 4 3= 27 324
Develop PR as close as possible to a (325)
12 3 + 271 3252
12 2 2 — 2708 32496
) Décimal rule, dpPR - dpSR = dpR, 3 -0 =3 12 6 5 413 21 - 27083 324996
Partial result A = 27.083 . A 109 8 760543 2 a4
3 3 Clear
677 615 43 2|1 - 27080 2031
Setb s 765 43 21 A A 117109 8 7 65 43 2 A
4
Calculate B = A x b with multiplication 1Bf 6717 2 g+ 2700 slelilolt
Reduce CR to O with positive turns
677 4 7 + 20 4795191
5 Décimal rule, dpSR + dpCR = dpR, 0 + 3 = 3 67 7 6l5l4l3l2]7 - 0 18335191

Partial Result B = 18335.191 A A 11109 8 7 6 A 43 2 1



119 65 4321 1 6435191
87654321 A N 1109 87 A543 21
Set d 1109 5 5 — 15 485191
6

Calculate C = B + d with division by subtractive method. (See 1Cc) 111le 4 4 115! 4 ol1lol1

Reduce PR as close as possible to O
119 3 o 154 9191
119 2 7 — 15407 8 61

Decimal rule, dpPR — dpSR = dpR, 3 -0 =3

! ' 154

7 In PR, the remainder: 0.028 171° 6)5/4]3]2]1 7 - 54,077 0028
Final result C = 154.077 “ Lo meme e s a2

Source: " Computing examples for the Curta", Contina / © Bernard Stabile - 2023



